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The diagram shows two straight lines, AE and BD, intersecting at C. 
Angle ABC = angle EDC.
Triangles ABC and EDC are congruent.

Write down two properties of line segments AB and DE.
[2]
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These two triangles are congruent. 
Write down the value of (a) x, (b) y.

[1]

[1]
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The answer is unknown because the image does not provide a clear value.

Iyan
Typewritten text
Two properties of line segments AB and DE are:

Parallel: Since triangles ABC and EDC are congruent, then angles ABC and EDC are congruent. Also, angles ABC 
and EDC are alternate interior angles formed by transversal AC and lines AB and DE, respectively. Therefore, 
alternate interior angles ABC and EDC are congruent, which implies that lines AB and DE are parallel.

Equal: Since triangles ABC and EDC are congruent, then their corresponding sides are congruent. Therefore, line 
segments AB and DE are congruent.

In other words, line segments AB and DE are parallel and equal.



Write down the letters in the word above that have

(a) exactly one line of symmetry,

(b) rotational symmetry of order 2. [1]

[1]

Question 3

A quadrilateral has rotational symmetry of order 2 and no lines of symmetry.

Write down the mathematical name of this quadrilateral. [1]

Question 4

For more help, please visit our website www.exampaperspractice.co.uk

Page 2

Iyan
Typewritten text
E B

Iyan
Typewritten text
The following letters in the word "ZEBRA" have rotational symmetry of order 2:

Z E B R

To have rotational symmetry of order 2, a letter must look the same after being rotated 180 degrees. All of the 
letters listed above satisfy this condition. For example, if you rotate the letter Z 180 degrees, it still looks like 
the letter Z.

The letter A does not have rotational symmetry of order 2, because it looks different after being rotated 180 
degrees.

Iyan
Typewritten text
The mathematical name for a quadrilateral with rotational symmetry of order 2 and no lines of symmetry is a "rhombus."
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Write down the letters of all the triangles which are

(a) congruent to the shaded triangle,

[2]

(b) similar, but not congruent, to the shaded triangle.

[2]

Question 5
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2 Three of the vertices of a parallelogram are at (4, 12), (8, 4) and (16, 16).
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Write down the co-ordinates of two possible positions of the fourth vertex. [2]

Question 6
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ABCD is a rectangle with AB = 10 cm and BC = 6cm. MN is the perpendicular bisector of BC.

AP is the bisector of angle BAD.

O is the midpoint of AB and also the centre of the semicircle, radius 5 cm.
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Write the letter R in the region which satisfies all three of the following conditions.

• nearer to AB than to AD
• nearer to C than to B
• less than 5 cm from O

[3]

Question 7
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